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Kif : FET12.9~15.1 C, JEET13.1~15.1 COHPHIZH - 7=,

4y« BT 32.9 ~ 34.0, JEE T 33.6 ~ 34.0 OHEiPHIZH - 7=,

pH : 7.98 ~ 8.20 DHFIFHICH ¥, R TKFEHKIENE (7.8 ~8.4) %=L T\ iz,

COD : 0.3 ~ 1.4 mg/L OFPHIZH VD, 2 CARERKERE (FASMENTE : 2 mg/LULT) %7
7z LTz,

5) DO : 7.0~8.1 mg/L OFFHICZH Y, 2L TAREHAKERE (6.0 mg/L LLE) Zii- LTz,
6) 777 bUBEIF 0.4~ 1.8 ml/m OFPHIZH - 7=,

7) MRS  STEB XL T O®EANICH - 72,

U e > (POs-P) : 4.9 ~ 25.6 pg/L
T oE=THEZESE (NHN) © 0.5~ 39.3 pg/L
e %2 (NO:2-N) : 4.3 ~ 8.1 ug/L
iHiERE%=E# (NOs-N) : 24.1 ~ 52.4 pg/L
(ZREZF X 30.4 ~ 96.3 pg/L)
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